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1. virus — viruses 2. important — more important

3. consisted — consisted of 4. light hit — light hits

5. mouse — mice 6. What more — What is more

7. still do — still does 8. The former has — The former have
9. Their — His 10. thought was — thought it was
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1 [1-1] 12 2 5
[1-2] 4 2 5
[1-3] —25/8 2 1
[1-4] 5/4 2 5L
[1-5] 11/32 8 i
[1-6] 8 8 K
[1-7] - 2 5L
[1-8] or U &Ha| 2 5L
[1-9] — 2 5
[1-10] B 7R
[1-11] 1/3 4 5
[1-12] 1 4 5
[1-13] 1/2 45
[1-14] —V3/2 4 5
1-15] n(n —1) 7
2 2-1] 2cr 2 1
[2-2] 2ar 2 5L
[2-3] 2br 2 5
[2-4], [2-5], [2-6] | 2a, 2b, 2¢ | EANH Cl3dH % 7Y,
3D &L IEMTH | 85
[2-7] V2 2 5
[2-8] M 2++3 &A 2 15
[2-9] V3 2 I,
3 [3-1] —1 6 5
3-2 6r + 7 7 i
3-3 —1/12 7
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4) | 512 10 44
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2 | (1) | ®®:0,1,3,6,10,15 | I ABIEMRT 5 54 5 4
2) | @®:0,0,0,1,5,15 | NI ATBIEMET 5 4 5 4
(3) | @n®: 1,2,4,8,16,31 | MEIC A EBIEMRT 5 5 5
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(1) b 45
2) c 4 55
3) a 4 55
(4) c 4 55
(5) a 4 55
(1) b 445
(2) f 445
(3) c 45
(4) e 45
(5) e 45
(1) e 4.5
2) c 4 55
(3) d 45
(4) d 45
(5) f 45
(1) d 545
(2) i 545
(3) c 5 5
(4) d 54
(1) i 445
(2) j 445
(3) b 445
(4) a 4.5
(5) g 4 45
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# 2 & | (2)cumene
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Nationality No.
BIOLOGY (Please  print full name,
underlining family name) Marks
Name
Answer Column
€)) (2) 3) “4) &) (6)
Q D C G E 0
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I T H
2 3 4 5
1 1x8=8
B E D C 2,3,4&5 3x4=12
total 20
@8] (2) (€))] 4) &) (6)
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2 3 4 >
) (2 (€))] I 1x9=9
2,3,4 3x3=9
E E B A B C 4 1x3=3
total 21
L 2 3
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III C G E B C 4x5=20
total 20
1 2 3
(1) (2) @8] (2)
B C E D E
vV
4 5 14
2,3 2x2=4
D C 4 4, 5 5
total 21
1 2 3 4 5 6
V B B B E A D 3x6=18
total 18
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